

**Revised Purchase Order**



Purchase Order			
Purchase Order Date	PO/Reference No.	Revision No.	Revision Date
Jan 4, 2023	AB0775279	3	Feb 13, 2023
<b>Contact instructions for questions regarding this Purchase Order:</b> If Buyer Contact information is listed below, please contact the Buyer. If not, please contact the Customer.			
<b>Buyer Contact:</b>			
<b>Buyer</b>	<b>Buyer Email</b>	<b>Buyer Phone Number</b>	
pjs - Spivey, Paula	pjspivey@pvamu.edu	936.261.1932	
<b>Customer Contact:</b>			
Name:	Shekinah Williams		
Email:	SJWILLIAMS@PVAMU.EDU		
Phone:	+1 832-296-7870		

**Sales Tax Exemption**

Prairie View A&M University is exempt from state and municipal sales taxes under Chapter 20 Title 122A, revised Civil Statutes of Texas, for all purchases made for the exclusive use of the Prairie View A&M University.

The laws of the State of Texas shall govern this Purchase Order.

Member of the Texas A&M University System.

**Order acceptance instructions:**

**Vendor guarantees that the products delivered or the services performed as a result of this Purchase Order will meet or exceed all specifications herein. Any exceptions to the pricing or the description contained herein must be approved by Prairie View A&M's Department of Procurement and Disbursement Services prior to shipping or performance. This Purchase Order is governed by the laws of the State of Texas and Prairie View A&M's Terms & Conditions, which are available online: <http://www.pvamu.edu/pdsv/wp-content/uploads/sites/88/PVAMU-Ts-Cs-FINAL.pdf>**

Supplier Information		Delivery Information	
Supplier Name	CBORD GROUP INC THE	<b>Delivery Address</b>	
Address	950 DANBY ROAD STE 100C ITHACA, New York 14850 United States	TAMUS Member:	05-Prairie View A&M University (05)
Phone	+1 607-257-2410	Attn:	LaPorsha Washington
Fax	+1 607-330-3949	Auxilliary Services	
FOB / FREIGHT	Destination	c/o Central Receiving Warehouse	
Pre-Pay & Add	No	Room	107
Payment Terms	0, Net 30	1178 Reda Bland Evans St	
Contract Number - Header	no value	MS 1405	
Contract Number - Line	no value	Prairie View, TX 77446	
Quote number		United States	
		<b>Delivery Information</b>	
		Required Delivery Date	
		Ship Via	Best Carrier-Best Way

**Notes to Supplier**

**PO Clauses**

Header 001 No Collect Freight Neither COD nor "Collect" freight or handling charges will be accepted.  
Charges Accepted

Line No.	Product Description	Catalog No.	Size / Packaging	Unit Price	Quantity	Ext. Price
----------	---------------------	-------------	------------------	------------	----------	------------

1 of 71	R-ADL6724734R-Allegion (REPTR400) Wireless Repeater	n/a	EA	129.88 USD	1 EA	129.88 USD
2 of 71	R-ADL6725687R-Allegion (PIM400-TD-2) 2 Door PIM	n/a	EA	64.34 USD	3 EA	193.02 USD
3 of 71	0.83333 R-3ACSGR6730031000R-Squadron, V300 Event Output Control Panel	n/a	EA	45.23 USD	1 EA	45.23 USD
4 of 71	R-3ACSGR6730033000R-Squadron Access Controller, 2 Door, V2000 W/32 MB	n/a	EA	185.72 USD	10 EA	1,857.20 USD
5 of 71	R-3ACSGR6730037000R-Squadron Dorado 644 Magstripe W/VoLTG Reg	n/a	EA	61.90 USD	6 EA	371.40 USD
6 of 71	R-3ACSGR6732018000R-MR-20 Mag Reader with Key Pad-Grey	n/a	EA	46.13 USD	2 EA	92.26 USD
7 of 71	R-3ACSGR6790048000R-Squadron Handkey II F Series Hand Reader Kit, Reader with	n/a	EA	140.79 USD	5 EA	703.95 USD
8 of 71	R-ACS6730093R-Squadron Access Control Panel, V1000RX -R	n/a	EA	178.42 USD	7 EA	1,248.94 USD
9 of 71	R-ACS6730127R-HID (6236CKN000B00) RMPK40 iCLASS Reader	n/a	EA	70.40 USD	9 EA	633.60 USD
10 of 71	4.16665 R-ACS6730156R-Squadron V1000 EVO Access Control Panel 32 doors	n/a	EA	177.5625 USD	4 EA	710.25 USD
11 of 71	R-ADL6720970R-Allegion Panel Interface Module, PIM400-485, 16 doors	n/a	EA	132.30 USD	5 EA	661.50 USD
12 of 71	R-ADL6722292R-Allegion (HHD-KIT) Hand Held Device Pre loaded with SUS	n/a	EA	69.18 USD	2 EA	138.36 USD
13 of 71	R-ADL6724089R-Allegion (ANT400-REM I/O) Omni-directional remote antenna	n/a	EA	24.29 USD	6 EA	145.74 USD
14 of 71	R-ADL6724090R-Allegion (ANT400-REM I/O+6DB) Directional, flat panel ante	n/a	EA	30.34 USD	3 EA	91.02 USD
15 of 71	R-ADL6724093R-Allegion (MGB+MCA5) Grounding kit for ANT400REM I/O	n/a	EA	18.21 USD	6 EA	109.26 USD

16 of 71	R-ADL6724556R-Allegion (WRI400) Wireless Reader Interface	n/a	EA	86.18 USD	11 EA	947.98 USD
17 of 71	R-ADL6724733R-Allegion (GCK400) Gate Control Kit	n/a	EA	201.28 USD	1 EA	201.28 USD
18 of 71	GET7190319GET Platform Subscription Fee: School Pop. 5,001-10,000	n/a	EA	8,543.45 USD	1 EA	8,543.45 USD
19 of 71	R-MCR6040310NLA R-DT Research kitchendisplaycontroller withAMD 166LXproc	n/a	EA	56.98 USD	2 EA	113.96 USD
20 of 71	R-MCR6040311R-HP EliteDisplay E190i LED monitor: 19 inches	n/a	EA	72.40 USD	2 EA	144.80 USD
21 of 71	R-MCR6040399R-Adjust Stand High/Low Mount Display for Oracle Hosp WS6	n/a	EA	62.78 USD	1 EA	62.78 USD
22 of 71	R-MCR6080119NLA R-Epson TM-T88V thermal receipt printer with PS180 IDN	n/a	EA	150.74 USD	32 EA	4,823.68 USD
23 of 71	R-MCR6080128NLA R-APG Series 4000 dual media slotcash drawer5x5 Series 1n	n/a	EA	52.03 USD	18 EA	936.54 USD
24 of 71	-MCR6080129R-APG Series 4000 dual media slot cash drawer 5x5 Series 2	n/a	EA	42.97 USD	11 EA	472.67 USD
25 of 71	R-MCR6080131R-APG Series 4000 single media cash drawer 4x5 Series 2	n/a	EA	60.61 USD	10 EA	606.10 USD
26 of 71	R-MCR6080134NLA R-LCD customer display with 18-inch pole: 240 by 64	n/a	EA	46.86 USD	8 EA	374.88 USD
27 of 71	R-MCR6080137R-Customer display for Oracle Hosp WS6 series low mount	n/a	EA	46.86 USD	18 EA	843.48 USD
28 of 71	R-MCR6080138NLA R-Cust display for Oracle Hosp R-and E-Series rear mount	n/a	EA	42.11 USD	10 EA	421.10 USD
29 of 71	R-MCR6080139R-LCD customer display with 18-inch pole, Series 2	n/a	EA	46.86 USD	1 EA	46.86 USD

30 of 71	R-MCR6080216R-Oracle Hosp WS610 w/ Atom proc, WIN 8.1 Ind Pro	n/a	EA	303.61 USD	1 EA	303.61 USD
31 of 71	R-SFT7080204R-Aero POS SW license (one license per terminal required)	n/a	EA	92.25 USD	1 EA	92.25 USD
32 of 71	R-SFT7080244R-CSGold Follett Bookstore POS Data Xchange	n/a	EA	1,501.42 USD	1 EA	1,501.42 USD
33 of 71	R-SFT7071001R-CS Entitlements, V6 to V7 Upgrade 10,000 Base Patrons	n/a	EA	4,333.79 USD	1 EA	4,333.79 USD
34 of 71	R-SFT7071004R-CS Entitlements, V6 to V7 Upgrade 5,000 Extra Patrons	n/a	EA	783.70 USD	2 EA	1,567.40 USD
35 of 71	R-SFT7071006R-CS Stored Value/Credit, V6 to V7 Upgrade 10,000 Base Paton	n/a	EA	3,034.12 USD	1 EA	3,034.12 USD
36 of 71	R-SFT7071011R-CS Meal Plans, V6 to V7 Upgrade 10,000 Base Patrons	n/a	EA	3,693.11 USD	1 EA	3,693.11 USD
37 of 71	R-SFT7071016R-CS Access, V6 to V7 Upgrade 10,000 Base Patrons with ARM	n/a	EA	4,379.56 USD	1 EA	4,379.56 USD
38 of 71	R-SFT7071021R-CS Location, V6 to V7 Upgrade 100 Base Locations	n/a	EA	2,186.35 USD	1 EA	2,186.35 USD
39 of 71	R-SFT7071024R-CS Location, V6 to V7 Upgrade 100 Extra Locations	n/a	EA	1,150.96 USD	1 EA	1,150.96 USD
40 of 71	R-SFT7590142R-Crystal Reports 2013 (Upgrade existing Licd Crystal users)	n/a	EA	129.28 USD	1 EA	129.28 USD
41 of 71	SAS7681003CBORD Remote Support	n/a	EA	204.79 USD	2 EA	409.58 USD
42 of 71	0.83333 R-3SFTGR7071190000R-CS CardLink Software EOL 6/30/23	n/a	EA	672.61 USD	1 EA	672.61 USD
43 of 71	R-3SFTGR707121302BR-CS Biometric Locations -1 Extra Location	n/a	EA	32.77 USD	5 EA	163.85 USD
44 of 71	R-ATT6790140R-VP Attendance Reader Kit, CSGold, Wall Mount, MSR, Swipe	n/a	EA	24.74 USD	2 EA	49.48 USD

45 of 71	SAS7681003CBORD Remote Support	n/a	EA	207.79 USD	2 EA	415.58 USD
46 of 71	SAS7681003CBORD Remote Support	n/a	EA	204.79 USD	1 EA	204.79 USD
47 of 71	R-3SFTGR7070065000R-CSGold AdminWeb Full version Includes Reports, Patron, and	n/a	EA	1,109.37 USD	1 EA	1,109.37 USD
48 of 71	R-MCR6080119NLA R-Epson TM-T88V thermal receipt printer with PS180 IDN	n/a	EA	132.50 USD	18 EA	2,385.00 USD
49 of 71	R-MCR6080200R-Oracle Hosp WS610 w/ Atom proc, WIN10 IoT	n/a	EA	275.18 USD	18 EA	4,953.24 USD
50 of 71	R-MCR6040399R-Adjust Stand High/Low Mount Display for Oracle Hosp WS6	n/a	EA	57.75 USD	18 EA	1,039.50 USD
51 of 71	R-MCR6080129R-APG Series 4000 dual media slot cash drawer 5x5 Series 2	n/a	EA	47.57 USD	18 EA	856.26 USD
52 of 71	R-MCR6080214R-Customer display for Oracle Hosp WS6 Series High	n/a	EA	43.03 USD	18 EA	774.54 USD
53 of 71	R-Customer display for Oracle Hosp WS6 Series HighR-SFT7070265	n/a	EA	833.07 USD	2 EA	1,666.14 USD
54 of 71	R-SFT7080269R-CSGold Mobile Reader License	n/a	EA	374.35 USD	2 EA	748.70 USD
55 of 71	R-SFT7080273R-CSGold EFI Printing Xchange	n/a	EA	1,415.11 USD	1 EA	1,415.11 USD
56 of 71	1.66667 R-SFT7080269R-CSGold Mobile Reader License	n/a	EA	589.82 USD	1 EA	589.82 USD
57 of 71	R-MCR6080322R- Oracle MICROS Workstation 625X with 15.6-inch anti-glare touchscreen display, 1 Intel Celeron dual-core processor, 8 GB RAM, 128 GB SSD, MSR, Wi-Fi, RFID, and Windows 10 IoT Enterprise 2019 LTSC	n/a	EA	306.25 USD	3 EA	918.75 USD
58 of 71	R-MCR6040399R-Adjust Stand High/Low Mount Display for Oracle Hosp WS6	n/a	EA	57.95 USD	3 EA	173.85 USD

59 of 71	R-MCR6080396R-Oracle MICROS Compact WS310R (WIFI, WIN10 IoT)	n/a	EA	311.74 USD	9 EA	2,805.66 USD
60 of 71	R-MCR6080266R-Flexible stand for Oracle Hosp WS3/6 ORCL PROMO	n/a	EA	34.39 USD	9 EA	309.51 USD
61 of 71	R-MCR7590140R-Oracle Hosp Simphony Foundation-System Perpetual ORCL PROM	n/a	EA	293.69 USD	1 EA	293.69 USD
62 of 71	R-MCR7590152R-Oracle Hosp Simphony Point-of-Sale-POS Client Perpetu	n/a	EA	345.51 USD	24 EA	8,292.24 USD
63 of 71	R-MCR7580098R-Oracle Hosp Simphony 2X Credit Card Interface-POS Cli	n/a	EA	21.99 USD	24 EA	527.76 USD
64 of 71	R-SFT7580039R-Interface Conv: 3700/CSGold to Simphony/CSGold	n/a	EA	325.62 USD	22 EA	7,163.64 USD
65 of 71	R-SFT7580038R-CSGold to Simphony Interface	n/a	EA	346.56 USD	2 EA	693.12 USD
66 of 71	R-MCR6080248R- Oracle MICROS Kitchen Display Controller 210 WIN10	n/a	EA	45.02 USD	1 EA	45.02 USD
67 of 71	R-MCR7590153R-Oracle Hosp Simphony Kitchen Display System-Kitchen D	n/a	EA	69.10 USD	1 EA	69.10 USD
68 of 71	R-MCR6040577R- Oracle MICROS LED antiglare monitor with stand, DisplayPort and HDMI cables, with interfaces for DisplayPort, HDMI, and VGA: 22 inches	n/a	EA	21.86 USD	1 EA	21.86 USD
69 of 71	R-MCR6040302R-Mounting plate for kitchen display monitor and bump bar for wall mount with pivoting arm: 75/100 mm	n/a	EA	10.29 USD	1 EA	10.29 USD
70 of 71	0.25 R-MCR6080315	n/a	EA	42.86 USD	1 EA	42.86 USD
71 of 71	SAS7681003CBORD Remote Support	n/a	EA	471.15 USD	1 EA	471.15 USD
Total					<b>87,335.09 USD</b>	

<b>Billing Information</b>	<b>Billing Address</b>
----------------------------	------------------------

To assure timely payment please e-mail invoices to the email provided in the bill to address. If the invoice is sent via email, please do not send a duplicate copy through the mail. Only if email is not an option then submit invoices to the billing address indicated in the "Billing Address" section. To inquire about electronic invoicing via cXML, CSV or PO flip through the supplier portal, e-mail vendorhelp@tam.u.edu.

Invoice must include the PO/Reference number shown above.

Prairie View A&M University-  
Accounts Payable

\*\*\*Do Not Mail Invoices\*\*\*

Email invoices to Payables@pvamu.edu

P.O. Box 519

MS 1311

Prairie View, TX 77446-0519

United States